4)
7. Describe Sims model of vector Auto-Regres- A (Printed Pages 4)
sion (VAR). What are the problems in VAR

modelling? 15 AS-2004
RF= & Wieel ¥ Fe-FAIsA0 Hiset (VAR) M.A. (Semester-IV) Examination, 2015
quiq ®fSel VAR wiefei & gevam @@ &2 ECONOMICS
Unit-1V / 36&-1IV Paper - V(d)
8. Discuss 2 SLS method to estimate over iden- (Advance Econometric Methods)
tified simultaneous equation system. 15 Time Allowed : Three Hours] [ Maximum Marks : 100
a1fer-31fd7 MeiRa ameor TE P 3Rl B Bl Note : Answer five questions in all. Question No.1
f&-¥orr | vt faftr &1 ook S is compulsory. Attempt one question from
9. Describe the dynamic properties of K-G model each unit. Marks are indicated against the
and state its limitations. 15 questions.
K-G TeeT & TTereds Tetsanit &1 goia e gor gﬂ‘ﬁﬁmﬂawmlmﬂ1m%|
O N TS TP I TP T2 HIiole| YAd U & 3P
RIESA
1. Write short notes on the following: 4x10=40
FrfoRed w e fewon fafe -
(i) Stationarity in time series
&I SOl § Rerar
(ii) White noise
7qd OR
(iii) Spurious regression
ez ST

AS-2004 P.T.O.



(2)

(iv) Problem of omitted variables
T TR D T

(v) Identification problem
arfisfererRoT TH

(vi) GLS Estimator
ARG ~gAaH I 30TH

(vii) Weighted least squares method
HIRA =gFaw o fafer

(viii) Instrumental variable methods

it @R fafer

(ix) Indirect Least squares method of Estima-

tion
3RO DI 3Tce] =gAaw ot fafer
(x) Integrated stochastic process
TG aTGRED Jfebar
(xi) Characteristics of a macro econometric

model

Tafte sreffig dfsa &F faemyam
Unit-I / 3o3-1
Discuss Linear Probability model for qualitative
response variable. What are the problems in
applying OLS to this model? 15

oG uidfear R & o Raw wwnfaar dea &
fagam @ifoel 9 Aisa & forr weRor <A o
fafer & v & T aeRm3l o1 AT HRAT UsaT 29

AS-2004

3)

Describe Logit model for dummy regress and
Estimate the model for
(i) individual
(ii) grouped data 15
Y 93T TR & ford dffore Afsd &1 auie Hifste-
(i) BT
(i) g 3nidsl & ford dieet &1 M HifoTe|

Unit-II / 3oR-1I

What are the consequences of measurement

errors in variables? Explain any one method

to get rid of the problem. 15
W § A Fedt & T I9E §° T TET B
fR1*0T & o foosht vop fafer & Twaed|

What is multicollinearity? How is it detected?

Explain some solution to the problem. 15

§g IRREdar F1 8° 39! [ IBR Fa fea

ST &7 59 Tl & HIqud FHTE P THSS |
Unit-III / $pR-III

What are the steps in forecasting stationary

time series? How would you estimate the

autoregressive (AR) part of the series? 15

fer &a-9vh & wiosy FuRor & wor @ €7 29
HIT AU & Tod: FHETHTT (AR) HIT B 39 foesg
YBR NG HRA?
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